EARAROBEEIERT — 2 N— IBISH —F

201853/ 1H (K) 13El/1IIE4H

m%%%‘ C2 H¥5%— [xwlm [ 1memml - |y ) oo mm
[A&4£] 1 7% :1,100,000 @ 23 :374,000 @ 33 :220,000  ~ 4 3#&:154,000 @ 5 7 :132,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . #1138 . -1- . — NAARE (GEFN)
1 3 JFO—2X 4 6 a2 525_? 1-1-1 37.9 2 (4_474) :%TJ\EEE?@
ANKRATING By d—L R FICING
=« T & 7 . —5— . — 2R (MiE)
5 4| 47528 H 6 L 5(52)4 3-5-4 | 37.7 3 (5+316) g
LHIINyF— B:IR/K-T =l =
o e : EAllEEt] 3 - HBB— (i)
3 S ZmrTRYa—1 > 7| W (1551./72) 5-3-3 | 38.0 1 ;1_738) o
AT M AT —F— K BTALLEFUY RS
4lgl10| F1 Va7 f 5 | R 2 165 [383 — | 5 (4589) FER= (o)
LN—HNE Bixay Ty HEXHRF—T I
o EATE . —10- . — BEBRM (aFn)
N . BRI e B G 8108 %89 T | e
L:T7LIANIVE B:v¥F—a—FK Exapse]
N o FEA . -10- . - AEHF— (&)
6lgli1| o127 hU—xT7— o4 e (537/42) 9-10-9 | 38.8 9 (4;6) st
LENTITFANRTE BENTI AN WL NEEEE RA%
[N - = R A 8- — NAAZ (J1HE)
Jlsls| 7v7r%55 it 4 Pk (7§77.27) 10-8-7 | 39.1 8 (4:315) o
AT M F—Tr—F— K Big 1%y T4 INHINH T 7 — L
= 5 IRHAH TS -1- — EBEE (M)
gl1l1|397>8-9a B 7 o 5(72.)6 1-1-2 | 40.5 6 ;1_519) el
L7 RIA¥YYy 7R B:JL—ZVIIy b iy R
5 o4 | RBHR 57.8 5-4-6 | 40.1| — 4 476 | N1IBE (FEF)
9|7|9|¥Yz—ALR 6.0 I 1) | W Fr—xtEvar
LY IRG1 TR B:LAY—T12FK AW S
i -5 B4 | WUAEEE 57.9 7-9-11 | 39.8| — 10 | 435 |ERE=#E (JI1E)
1017 8 IJNE—Z27 .0 (7€) (+5) KREEETF
RHIRG4TTR BTVENT—X VDAY ¢
't 5 IR A o4 | BREZ (2581./42> 379|407 — | 1 <i?g> %a?ﬁ: (1)
iAo bT7LYy X BINIXF 77 Ns
® I —F—@EBIERL
13—7+—
2=1—F— (1,3),(4,6),(7,9),8,2,11,5,10
ga=7"= (1,3),7,9,4,10,6,5,8, (2,11)
40—+ — 3,1,7,4,10,9,5,2,(6,11) ,8
[ N3
BB 3 520M 714K 3-4 390M % E 3-4 1,610M 3EHE 3-4-7 570M
8 B 3 130H4 3-7 160M B 3-4 3,100M K31 3-4-7 5,330
4 120/ 4-7 230M B E 3-4 1,420
7 1004 B 3-4 2,360

ABICOVWTRDTEEERROODE. TR LIV,




